Theory of Flight
Homework 5

Name:_______________________________________  Date:_______________

1. Taking off from runway 36, the wind is 340º at 20 knots, what are your wind components?
Headwind: ______________
Crosswind: ______________

2.  The thrust available from a jet engine at 35,000 feet would be________ than if the same engine were at sea level.
a.	More
b.	Less
c. The same.
      
 Why?

4.  What must happen to fuel flow for a jet engine at 35,000 feet altitude and 30,000 lbs gross weight if it burns off 10,000 lbs and now weighs 20,000 lbs gross weight to achieve specific range max?
a.	more
	b.	less
c. the same. 
Why?

5.  A jet airplane has the TA and TR curves in fig. 2-1.  The airplane data: weight = 9,000 lb. standard sea level day; clean configuration. Find:

a.	Vmax at 95%					_________
b.	V for maximum climb angle 95% (RPM)		_________
c.	sine of maximum climb angle (95% RPM)	_________
d.	Rate of climb at 400 knots (95% RPM)		_________
e.	V for best endurance;				_________
f.	V for maximum range;				_________
g.   V for max range with 100 knots of headwind.	_________

h.   The value of 				_________







6.  List the 4 performance items for a Jet that occur at L/Dmax:
a.
b.
c.
d.


7. If the weight of a jet airplane is increased through in-flight refueling, the TR curve
a.	moves down and to the right.
b.	moves up and to the right.
c.	moves down and to the left.
d.	moves up and to the left.

8.	If the landing gear of a jet airplane are lowered, the increase in
a.	induced drag is more than parasite drag.
b.	parasite drag is more than induced drag.
c.	both types of drag are increased the same.

9.	A lightly loaded airplane will be able to glide farther but at a lower airspeed than when heavily loaded.
	a.	True
	b.	False

10. Thrust required to overcome induced drag varies:
	a.	inversely with V
	b.     inversely with V2
	c.     inversely with V3
	d.     directly with V

[bookmark: _GoBack]11.  Study Figure 2-2 be able to answer questions about it.
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Figure 2-1 Thrust Available vs Thrust Required
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Figure 2-2 Effect of Weight change on the Thrust Required Curve
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